s lc=s s +5 6T MEY BH 3kt AT )
o|=- =R B
7.353 5.85 3.177 0.485 2.577
X 2 X 6 X 3 X o) X 7
9.896 8.372 5.198 0.954 6.651
X 9 X 4 X 4 X 5 X 9
0.183 1.563 4,315 2.165 6.813
X 3 X 6 X 4 X 9 X 3
7.521 0.803 1.15 2.95 2.465
X 3 X 3 X 6 X 8 X 4
7.597 0.811 3.473 4.097 1.518
X 4 X 8 X 8 X 6 X 5
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s lc=s s +5 6T MEY BH 3kt AT )

O|&: SR =
7.353 5.85 3.177 0.485 2.577
X 2 X 6 X 3 X 9 X 7
14.706 35.1 9.531 4.365 18.039

9.896 8.372 5.198 0.954 6.651
x 9 X 4 x 4 X 5 X 9
89.064 33.488 20.792 477 59.859
0.183 1.563 4315 2.165 6.813
X 3 X 6 X 4 X 9 X 3
0.549 9.378 17.26 19.485 20.439
7.521 0.803 1.15 2.95 2.465
X 3 X 3 X 6 X 8 X 4
22.563 2.409 6.9 23.6 9.86
7.597 0.811 3.473 4.097 1.518
X 4 X 8 X 8 X 6 X 5
30.388 6.488 27.784 24.582 7.59
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